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1.ITacmopT KOMIIEKTA KOHTPOJIbHO- OLEHOYHBIX CPEACTB Y4eOHOH  JIMCUMILINHBI
«AHOoCTpaHHBIN A3BIK B MPO(eCCHOHAIBLHON e TeJIbHOCTH»

1.1.06aacTh NPUMEHECHUS KOHTPOJbHO- OIICHOYHBIX CPEACTB

KonTposbHo- oneHounble cpenctBa (KOC) npemHazHadeHBl I KOHTPOJIS U OIICHKH
o0pa3oBaTeNbHBIX JOCTWKEHUN  OOy4yalolmuxcs, OCBOHMBIIUX MpOrpaMMy y4eOHOMH
TACHUTIIAHBI « MTHOCTpaHHBIN SI3BIK

KOC BkIII04alOT KOHTPOJIbHBIE MaTepHayibl ISl MPOBEACHUS TEKYILETrO KOHTPOJS U
MIPOMEKYTOUHOM aTTecTanuu B GopMe TECTOBBIX PadoT.

KOC pa3paboTtan Ha OCHOBaHWWU:

- OCHOBHOM TIpodeccHOHaNIbHONM 00pa3oBaTeIbHOM porpaMmsbl 1o npodeccuun 08.01.25
Macrep 0TIeJJ0YHBIX CTPOUTEIBHBIX U IEKOPATHBHBIX PadoT

- nporpammbl yueOHoU aucturmnabl OIT/1.03 «HOCTpaHHbIN S3bIK (aHTTUHCKUIA) B
poeCCHOHATBHON JEATEITHHOCTH))

1.2. ®opma aTrTecTanumn

dopmoii arTecTali Mo y4eOHou aucuuruinHe « MHOCTpaHHBIN S3BIK (AHTJIMUCKUN) B
npodeccoHaIbHON AesTenbHOCTI ABIIAETCA TU(DPEepEeHIIMPOBAHHBIN 3aUET.



2. Pe3yabTaThl 0OCBOCHUS Y4eOHOM IMCUMILIMHBI, MOAJIe/KALIME POBEPKe

B pe3ynbpTaTe 0CBOCHMS TMCUUILUIMHBI 00YYaroIUics JOJKEH yMemy.
- 0o0maTecs (YCTHO M NHMCbMEHHO) HAa MHOCTPAaHHOM S3bIKE€ Ha NPO(ECCHOHAIBHBIE U
IIOBCE/IHEBHBIE TEMBI;
- IEPEBOJUTH (CO CIIOBApEM) MHOCTPAHHBIE TEKCTHI NPOPECCUOHATBHON HAIIPAaBIEHHOCTH;
- CaMOCTOSITEJIbHO COBEPIIEHCTBOBATh YCTHYHD M NHCHbMEHHYIO pE€ub, MOMIOJIHAThH
CJIOBAPHBIN 3ar1ac;
B pe3yabTaTe OCBOCHUS IUCHUIUIMHBI O0YYaIOIHIICS TOIKEH 3HAMb:
- nekcuueckud (1200 - 1400 jeKCMYECKMX €IMHMI)) U TpaMMaTHYECKUH MUHHUMYM,
HEOOXOQUMBIA JJII 4YTEHUS U T1epeBoja (Co CclioBapeM) HWHOCTPAHHBIX TEKCTOB
npohecCHOHaNBFHOM HAMTPABICHHOCTH.



3.KOHTpOJIb ¥ OLIeHKA 0CBOeHMS Y4eOHO TucunIINHbI « MHOCTPAHHBIN A3BIK
B PO eCCUOHATILHOM IeATEJIHLHOCTH» 10 TeMaM (pa3aesiam)

@opMbI KOHTPOJIS:

[IpakTueckue 3aaHus

Y CTHBIN OITpOC

Tekymuii KOHTPOJIb YMEHHUS BBICKA3bIBATHCS MO MPEIJIOKEHHON TEME

KonTponp mepeBojia TEKCTOB 0OIIEHAYYHOTO U TPOGUIBHOTO XapaKkTepa.

KonTponb ynpaxxHeHuit Ha c10BOOOpa3oBaHKe, CIOBOCIOKEHUE, KOHBEPCUU

KOHTpoib BBICKa3bIBaHUM IO MPEIIIOKEHHON TEME

[IpakTueckne  3aJaHusd IO AYJAUPOBAHUIO

AyanpoBaHHE € 3IEMEHTAMU SI3bIKOBOM JOTAJKU

[TpocmoTp yuebHBIX GUIBEMOB, Oecena 00 yBUACHHOM M YCIIBIIIIAHHOM

TecToBBI KOHTPOJb PEUENTUBHBIX BUJIOB PEUYEBOM JEATEIBHOCTH (TECThl HAa BHIOOD
IIPaBUJIBHOTO OTBETa, HA BOCCTAHOBJICHMUS JIOTMYECKOTO IMOPS/IKA, HA YCTaHOBJIIEHUE
COOTBETCTBUM)

KOHTpOIBHO-TPEHUPOBOUHBIE YIIPAXKHEHUS HA OBJIAJICHUE JICKCUYECKUMU €IUHULIAMU

KOHTpOIBHO-TPEHUPOBOYHBIE YIIPAKHEHUS

[TpoBepounas pabora

VY CTHBIN ¥ MMCBMEHHBIN KOHTPOJIb IIEPEBOJA TEKCTOB

TecTbl MO YTEHUIO

MeTo/1bl OLIEHKHU Pe3yJIbTaTOB 00YUYEHUS:

- HAaKONHWTENbHAsg CUCTEMa OaJJIoB, HA OCHOBE KOTOPOW BBICTABISAECTCA HWTOTOBAs
OTMETKA.

- TpaJWLMOHHAs CHCTEMa OTMETOK B Oajulax 3a KaXKIyl BBINOJIHEHHYIO paboTy, Ha
OCHOBE KOTOPBIX BBICTABIISIETCS UTOTOBAst OTMETKA;

— MOHUTOPHHT POCTa TBOPYECKOM CAMOCTOSITEIBHOCTH W HABBIKOB IOJIYYEHUS HOBOI'O
3HAHUS KaXKIbIM 00y4YaroIUMCS

— pe3yAbTaThl TEKYLIETO KOHTPOJIs (POPMUPYIOT PE3yJIbTaT UTOIOBOM aTTeCTallH 110
JUCLUTLIAHE.

IIpoueHr OT1merka
pe3yJIbTATUBHOCTH KosaunvectBo 0a/10B
(mpaBWIBHOCTH
0TBETOB)
90-100 32-38 5 (oTM4HO)
80-89 25-31 4 (xopor11o)
70-79 18-24 3 (YyAOBJIETBOPUTEILHO)
69 u MeHee 17 u menee 2
(HEYIOBJIETBOPUTEIIHHO)




IIpoueHt OrmeTKka
pe3yJbTATHBHOCTH KosunuecTBo 0a10B
(MpaBUJIBLHOCTH

0TBETOB)
90-100 40-37 5 (OTAM4HO)
80-89 36-33 4 (xoporio)
70-79 32-28 3 (YIOBIETBOPUTEIIHHO)

69 u MeHee 28 u MeHee 2

(HEYTOBJIETBOPUTEIIHHO)




4. 3aganus 1J19 OleHKH O0CBOCHUS JUCIUIIIIHHBI
Tecr 1 mo reme «TexHOIOrHsA IITYKATYPHBIX M 1EKOPATUBHBIX Pad0oT».
1 Define the tense of the predicate (Onpenenu rpamMmmaTHIeckoe Bpems)

1. He works with dogs on the border of our country.
a) Present Indefinite; b) Present Continuous; c) Present Perfect.
2. I didn’t think that he was a worker.
a) Present Indefinite; b) Past Indefinite; ¢) Future Indefinite.
3. His mother wants him to be an engineer.
a) Present Indefinite; b) Past Indefinite; c) Past Perfect.
4. Simeon of Polotsk was a famous scientist of his time.
a) Past Indefinite; b) Past Continuous; c) Present Indefinite.
5. He will receive good knowledge in our educational establishment.
a) Future Indefinite; b) Future Continuous; ¢) Future Perfect.
6. At present he is looking for something unusual.
a) Past Continuous; b) Present Perfect; c) Present Continuous.
7. 1 knew the names of Belarusian famous scientists.
a) Present Indefinite; b) Past Indefinite; c) Past Perfect.
8. He discovered a new method in science.
a) Past Indefinite; b) Past Perfect; c) Past Continuous.
9. By the first of September, he will have been working at this University for 15 years.
a) Future Perfect; b) Future Continuous; ¢) Future Perfect Continuous.
10. The idea to do this has attracted attention of some our students.
a) Present Indefinite; b) Present Perfect; c) Past Perfect.

2. In what sequence is the preparation of brick surfaces carried out?
Arrange the correct sequence. (B kakoii mocie10BaTeIbHOCTH TPOBOAST MOATOTOBKY
KAPIIUYHBIX TOBEPXHOCTEN? PaccTaBbTe MPaBUIIBHYIO MOCIICAOBATEIILHOCTS).

____ Bulges of more than 10 mm are cut down with a plaster hammer, a scarpel or a
chisel.

_____ Drips of the hardened solution are knocked down with a scarpel and a hammer.

___ Vertical deviations of more than 10 mm are eliminated with a leveling layer of
mortar without subsequent grout, having previously moistened the surface.

_____ Before plastering, the surface is well wetted.

____ Clean the surface from dust and dirt with metal brushes.

_____ The seams of the brickwork, which are not laid in a hollow, are knocked out with
a chisel and a hammer to a depth of at least 10 mm, cleaned with metal brushes.

_____Concavities of more than 10 mm are covered with a solution, having previously
moistened the surface.

_____The remaining dust is removed from the wall with brushes.



3.In what sequence is the preparation of concrete surfaces carried out? Arrange the
correct sequence. (B kakoit mocyien0BaTeIbHOCTH MPOBOJIAT IMOJATOTOBKY OETOHHBIX
HOBEepXHOCTEH? PaccTaBpTe MPaBUIIBHYIO MTOCIEAOBATEILHOCTD).

_____ldentify and eliminate deviations

_____ Give the surface a roughness

_____ Clean the surface from dust, dirt and streaks of mortar with metal brushes,
scrapers, etc.



Tect 2 mo Teme «Y cTpoiicTBO KapKacHO-00MBHBIX KOHCTpYKuMii (KOK) u3
JINCTOBBIX U INIUTHBIX MATEPHAIOB

1. Choose the right variant of the verb forms given in the brackets (Br16epu
IIPABWJIbHBIM BapUaHT TPaMMaTHYECKOTO BPEMEHH).

1.— Where is Nick? — He (to go) to the Institute. His classes usually begin at 8

. @) has gone; b) goes; c) went;

2. Kate says she (not to go) for a walk until she does her homework.

a) didn’t go; b) will not go; ¢) hasn’t gone;

3. When the parents (to come) from the theatre yesterday evening, the children were
sleeping.

a) will come; b) come; ¢) came;

4. Don’t make so much noise. Father just (to fall asleep).

a) has just fallen asleep; b) just falls asleep; c) had just fallen asleep;

5. I have met my former schoolmate lately. I (not to see) her since we finished school.
She hasn’t changed at all.

a) haven’t seen; b) didn’t see; c) don’t see;

6. You (to go out) last night, Tom? — Yes, | went to the cinema, but I did not enjoy the
film.

a) do you go out; b) did you go out; c) will you go out.

2. Comprehensive check. Choose the best alternative according to the text:

1. If a person decides to build a house, ... .

a) he or she must have enough money; b) he or she must first select some partners; c)
he or she must first select a lot or piece of land.

2. ..., according to the buyer’s ideas. a) The architect fulfils all the documents;

b) The architect designs the house; ¢) The lawyer chooses everything necessary.

3. The basis for the contract between the builder and the buyer are ...

. a) agreements for building the house; b) documents selected by the lawyer; c)
specifications and blue prints.

4. The documents which are the basis for the contract provide information on ... .

a) size, materials, and how the house is to be built; b) qualification of the workers who
will build the house; ¢) money which is necessary to pay.

5. The frame is the skeleton ... .

a) around which all the works are organized; b) around which the rest of the house is
built; ¢) which is the main part of the house.

6. Workers bolt wooden sills or base plates to the foundation ... .
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a) after the footings and foundation have been formed; b) after they are asked to do
this; c) before the footings and foundation have been formed.
7. Floor joists or support beams are attached to the sills about ... .
a) 17 inches (41 centimeters) apart; 59 b) 16 inches (42 centimeters) apart; ¢) 16 inches
(41 centimeters) apart.
8. A joist runs from one sill and joins with another... .
a) joist from the nearest sill; b) plate from the opposite sill; ¢) joist from the opposite
sill.
9. Floor boards or plywood ... make the bottom layer of the floor.
a) covered the top of the joists; b) nailed on top of the joists; c) nailed on the bottom of
the joists.
10. ... separately before attaching it to the sill.
a) Carpenters assemble and nail together each wall frame; b) Carpenters select and
paste together each wall frame; c) Builders assemble and nail together each wall frame.
11. The sheathing or inner layer of the outside wall ... nailed to the studs.
a) may be wood, fiberboard, or plasterboard; b) may be cement, fiberboard, or
plasterboard; c) is necessary to be wood, fiberboard, or plasterboard.
12. ... before adding the siding or outer layer.
a) Obligatory builders tack tar paper to the sheathing; b) Sometimes builders tack tar
paper to the sheathing; ¢) Sometimes builders tack clay to the sheathing.
13. Siding may be aluminium, brick, stone, or wood placed ...
. a) directly above the fiberboard or tar paper; b) directly over the sheathing or tar
paper; c) at the sides of the walls.
14. The roof seals the top of the house, they may be ... .
a) flat, but most are slanted; b) only slanted; c) slanted, but most are flat.
15. Slanted roofs are often formed by ...
. @) pieces of plasterboard called sills; b) plates of tar paper called rafters; c) pieces of
lumber called rafters.
16. Rafters support the weight of the roof just as ... .
a) beams support the weight of the whole house; b) studs support the weight of the
floor; c) joists support the weight of the floor. 60
17. After carpenters nail sheathing to the tops of the rafters, ... .
a) they finish their work and declare about it to a master; b) they add heavy building
paper or building felt to it; c) they add tar paper or shingle to it.
18. Flashings or trips of sheet metal, placed around the chimney and other roof
openings, ... .
a) prevent water from leaking into the house; b) prevent mud and clay from coming
into the house; ¢) make the roof not dangerous for living.

11



Ju¢ppepeHUMPOBAHHBIH 324ET.

BapmnanT 1
1. Grammar test.

.Choose the right translation:

1. I asked them into the house.

a) Sl mpurnacuia ux B oM. b) S mpuriacuia ux B roctu. ¢) S mormnpocusia ux moobITh B
JIOMe.

2. The village was indeed beautiful

. a) JlepeBHs ObL1a 10CTaTOYHO KpacuBoi. b) JlepeBHs ObluTa (paKTHUECKU KPACUBOM. C)
JlepeBHsI 1EMCTBUTENILHO OblIIa KPAaCUBOM.

3. He looked a bit shocked to see them.

a) OH ObLI HECKOJIBKO IIOKUPOBaH, YBUEB UX. b) OHU ObLIM YIUBIEHBI, YBUIEB €TO. C)
OH OB CIUIIKOM 03a004Y€H, YTOOBI BUACTH UX.

4. It is the wrong house.

a) DTO IOX0M oM. b) DTO HE TOT AOM. C) ITO HACTOSIIUN JIOM. 8

5. They were in fact expected at a house on the other side of the village.

a) @aKkTUYECKU OHU PACCUUTHIBAIU OBITH B JIOME Ha APYroM KOHIIE AepeBHU. b) Ha
caMoM JieJie OHM OXHUJAJIM B JIOME Ha IPYyroM KOHIIe AepeBHH. ¢) Ha camom aerne ux
KA B IOME Ha IPYyroM KOHIIE JCPEBHHU.

2. Read and translate the text “FROM THE HISTORY OF HUMAN
DWELLINGS”

Most of the time of a modern man is spent within the walls of some buildings. Houses
are built for dwelling. Large buildings are constructed for industrial purposes. Theatres,
museums, public and scientific institutions are built for cultural activities of the people. The
purpose of modern buildings differs widely but all of them originate from the efforts of
primitive men to protect themselves from stormy weather, wild animals and human enemies.

Protection was looked for everywhere. In prehistoric times men looked for protection
under the branches of trees. Some covered themselves with skins of animals to protect
themselves from cold and rain but others settled in caves.

When the Ice Age had passed, Europe remained very cold, at least in winter, and so the
people of the Old Stone Age had to find some warm and dry place to shelter from bad
weather. They chose caves, dwelling places that storm and cold could not destroy. On the
walls of their caves ancient people painted pictures. Such decorated caves are found in
Europe, Asia and Africa.

When man began to build a home for himself, caves were imitated in stone structures.
Trees were taken as a model for huts built of branches. Skins were raised on poles and
formed tents.

Primitive stone structures, huts and tents are the earliest types of human dwellings. They
were lost in the prehistoric past but serve as prototypes for structures of later historic times.
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3.CocaBbte 5-10 BOIpOCOB MO TEKCTY.

Bapuant 2
1. Grammar test.

. Choose the correct answer:
1. My mum __ bornin 19609.
1) will be 2) was 3) is 4) were

2.1 __ painting now.
1) was 2) are 3) am 4) were

3. We ___ students at the moment.
1) are 2) were 3) was 4) is

4. Who ___ singing now?
1)is 2)was 3)be 4)were

5. Look, there __ my books on the desk.
1)is 2) was 3) were 4) are

6. Do you know these men? What ___ their names?
1) are 2)were 3)was 4)will be

7. What ___ your favourite color?
1) were 2)are 3)is 4)am

8. Howold __ you?
Dare 2)is 3)was 4)were

9. there letters in the box?
1) Are 2)Is 3)Was 4) Will be

10. There ___ many birds on the roof.
Dare 2)is 3)was 4)be

11. Many years ago there __ many dinosaurs on the Earth.
l)are 2)is 3)was 4)were

12. There ___ some lessons in English next week.
1)are 2)is 3) will be 4)were

13. __ there any lessons yesterday?
1) Are 2)Is 3) Were 4)Was

14. There __ much snow this winter.
1)are 2)is 3)was 4)were



15. There __ some interesting news today.
lare 2)is 3)was 4)were

2. Read and translate the text “RESIDENTIAL AND INDUSTRIAL BUILDINGS”

Present-day design for residential construction envisages all modern amenities for a
dwelling. They advocate larger, better built and better equipped flats and houses. Steel was
gradually substituted for iron and permitted wider rooms and larger windows. Windows can
be enlarged to the extent that they constitute a large fraction of the wall area. There is a
marked improvement in the heating and ventilating systems as well as in hot-water supply,
kitchen and sanitary fittings. Many tenants now can afford better furnishings, refrigerators,
washing machines, etc. A house 39 which is a physical environment where a family develops
IS acquiring a new and modern look.

Industrial buildings comprise another significant type of construction. This type of
construction involves factories, laboratories, food processing plants, mines, office buildings,
stores, garages, hangars and other storage facilities, exhibition halls, etc. Modern industrial
buildings have demonstrated the advantages of reinforced concrete arches, metal frames,
glass walls and prefabricated standardized mass produced parts.

3.CocaBbTte 5-10 BOIpOCOB MO TEKCTY.

BapuanT 3
1. Grammar test.

Choose the correct answer:
1. She usually __ the bus to school.
1) catches 2) catch 3) is catching 4) was catching

2. My brother ___ tennis every Saturday.
1) play 2)plays 3)isplaying 4) was playing

3. What is the noise? Jane ___in the next room.
1) sing 2)sings 3)issinging 4) are singing

4. Linda ____in Los Angeles all her life.
1) live 2)lives 3)isliving 4) are living

5. My granny is in the kitchen. She ___ cakes.
1) cook 2)cooks 3)iscooking 4) are cooking

6. Fred ___ English well.
14



1) speak  2) speaks 3)isspeaking 4) are speaking

7. Look! Douglas __ baseball for his University team.
1) play 2)plays 3)isplaying 4) are playing
8.John and Jack __ test now.

1) write 2)iswriting 3) are writing  4) is writing

9. hedrive to work every day?
1) Does 2)Isdriving 3)Are 4)Do

10. lusually _ tea for breakfast.
1) drink  2)drinks 3) am drinking 4) is drinking

2. Read and translate the text “TYPES OF BUILDINGS”

Types of buildings depend upon social functions and may be classified according to the
role in the Community.

The types of buildings may be domestic, educational, office, industrial, recreational, etc.
The common and necessary conditions are:

a) its suitability to use by human beings in general and its adaptability to particular
human activities;

b) the stability and permanence of its construction.

Speaking of residential construction we must say that the apartment houses are mostly
built to suit urban conditions. Group housing provides home for many families and is at once
public and private. The techniques of construction or the methods by which structures are
formed from particular materials are influenced not only by the availability and character of
materials but also by the total technological development of society.

The evolution of techniques is conditioned by two factors:

1) one is economic — the search for a maximum of stability and durability in building
with a minimum of materials, labour and time;

2) the other is expressive — the desire to produce meaningful form.

Large housing programmes have tended to stimulate technological change in the
building industry. Modular design (i.e. design in which the elements are dimensioned in
combinations of a fixed unit) has led to standardization of elements, interchangeability of
parts and increased possibilities for mass production, with resultant economies. Entire
apartment assemblages are available and are being used to an increasing extent. These
techniques aim at a higher output of better structures at lower cost. The high degree of
mechanization and standardization is successfully achieved by reinforced concrete blocks
and units. Reinforced concrete homes are produced by a variety of construction methods.
Various methods of constructing reinforced concrete houses involve extensive use of large
sections manufactured in heavily mechanized factories and erected at the site

3.CocaBbte 5-10 BONpOCOB IO TEKCTY.
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